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Review Period
Chapter 1
Graph the following piecewise functions.
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4. f@={

=2x+3 for x<1

3x—2 for x=3

5. Write the equation of a greatest integer function for the graph shown.
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State the domain for the following functions. e—»
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11. Consider the following functions.

f(x) =x?
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a) State the domain of f(x).
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b) State the domain of g(x).
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¢) What is f(g(x))? Do not simplify the result. Now graph f(g(x)) on your calculator while still not simplifying the equation.
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d) NOW simplify the result from part c) and graph it on the calculator.
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e) What can you conclude from this exploration?

Q>
V\_)

o X
Jolll § S

5

12. Let h(x) = (1—x2)
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State two functions, f(x) and g(x), such that f(g(x))=h(x). -
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13. Draw the graph of the inverse for the following function.

14. Explain under what condition(s) an inverse of a function will itself be a function. Why?
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15. Students often make the mistake of thinking that f ~1(x) means to take the recnprocal of f(x). For ex p|e consider CU///
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the function f(x) = x3 — 2. Someone might make the mistake and think that f~ (x) = f(x) b ) /Dbﬁ j
The correct answer is f~1(x) = Vx — 2. —or éa /] ﬁ
Search your mind for a function which satisfies i) = m That is, find a function whose inverse also happens to be

its reciprocal.




16. Let g(x) = g

a) Whatis g71(x)?
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b) Verify that g(g7*(x)) = x.

( 5(5 ) 15%—(0 , J(5tx) 15 %— 10 +10 +4x.
— /
ﬂ 6 ()(\ X = S5¢X S5+X N Elw
ol o A ] -
(5+><) 3G - 3x-2, 19+ = 2 2
5% S+ Ciy
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d) Complete the following tables of va),les for g(x) and g~ (x). OpAsS . e
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